Problem No. 1




Problem No. — 1 Solution

1) Time Ratio =1:3

Incorporation / Registration Date

1stJanuary .., 1st April 315t December
Pre Period Post Period
Jan Feb Mar (3 Months) : AMIJJuASON (9Months)

3 Months : 9 Months
1 : 3



(Notes :@ Sales Proportion : 1. Sales of each month in second half of the year are
presumed to be 2, the sales for each month in the first half of the year would then be 1.
Hence total sales from 1st January to 31st March would be 3, and those of 9 months

from Ist April to 31st Dec. = 15 (for April, May & June 3,@ I per months and for
remaining six months 12, @ 2 per month.

2) Sales Ratio = 1:5 e

First half Second half
Pre Post

M A M J JU A
1 1 11 2 2

S OND
2 2 2 2
Pre Total = 3 : Post Total =

3 :15
1: 5



Interest to Vendors = 17,500 (5% on 7,00,000)

Paid on 15t July 2003

Pre Post
Jan Feb Mar Apr May Jun

8,750 8,750



Dr. Profit & Loss A/C Cr.
Particular Pre Rs. Post Rs. Particular Pre Rs. Post Rs.
a) Time Ratio 1:3
To Salaries & Wages 12,000 36,000 | By Gross Profit 1:5 35,000 1,75,000
To Miscellaneous exp. 5,500 16,500
To Rates & Taxes 1,750 5,250 | By Rent 1:3 3,250 9,750
To Repairs to Building 750 2,250
To Depreciation 3,750 11,250
b) Sales Ratio 1:5
To Discount 300 1,500
To Advertisement 600 3,000
c) Uncommon
To Preliminary exp. --- 8,000
To Directors Fees 2,400
To R.D.D. 5,000
To Bad Debts 500 500
To Interest to Vendors 8,750 8,750
To Net Profit 4,350 84,350
38,250 | 1,84,750 38,250 | 1,84,750
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